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WM2EER AL ST EERA
B TTEE 2FE 3FEE R (R3-R2) kb= (R3/R2) R (R3-R1) tb= (R3/R1)
45 935,866 A 494 135 N\ 760,442 A\ 266,307 A 153.9% /N 175,424 N 81.3%
5A 957,145 A\ 493,611 AN 707,479 AN 213,868 A 143.3% A\ 249,666 A 73.9%
6 A 918,592 A 703,640 A 755,103 A 51,463 A 107.3% A\ 163,489 A 82.2%
A 969,757 A 623,212 A 806,444 N\ 183,232 A 129.4% A 163,313 A 83.2%
8 A 970,413 AN 627,524 A\ 628,892 A 1,368 A 100.2% A\ 341,521 A 64.8%
9A 904,036 A 679,130 A 640,981 A A\ 38,149 A 94.4% A\ 263,055 A 70.9%
B 5,655,809 A 3,621,252 A 4,299,341 A 678,089A 118.7% A 1,356,468 A 76.0%
B P = N
(R3/R2) STEE m— SR E m— GEISEE ==K (R3/R2) —0= /' & (R3/R1)
153.9%
100 o o6 o7 o7 160%
" 129.4% 140%
80 76 (R3/R2) 9. (R3/R2)
1433% 71 100.2% 120%
70 68
(R3/R2) 63 o4
60 107.3% . 100%
49 (R3/R2)
50 A\ 04.49% 0%
I (R3/R1) (R3/R1)
40 (R3/R1) 82.2% 83.2% o
R3/R1 o (R3/R1) 60%
(81 _3%) 73.9% (R3/R1) 70.9%
30 64.8%
40%
20
0 20%
0 0%
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(2)EE@mINEE (BE - RENSREHEERLC)
M2EER AL STEERA
B TTEE 2FE 3FE R (R3-R2) kb= (R3/R2) R (R3-R1) tb= (R3/R1)
4R 157,518+ M 89,241FH 126,018FH 36,777+H 141.2% A\ 31,500FH 80.0%
5H 127,679FM 70,117FH 91,804+ 21,687FM 130.9% A\ 35,875FH 71.9%
= 118,408+ 95,553FM 92,800+ /A 2,753FH 97.1% /\ 25,608FH 78.4%
TH 137,972+ H 93,467FH 110,389FH 16,922+H 118.1% A\ 27,583FH 80.0%
8H 148,866+ M 97,124+ 96,093FM A 1,031F M 98.9% AN\ 52,773FH 64.5%
9AH 129,514+ 96,781 FH 88,045FH N\ 8,736FH 91.0% N\ 41,469FH 68.0%
B 819,957FH 542,283FH 605,149FH 62,866 FH 111.6% A\ 214,808FH 73.8%
(B5) STTTEE SRI2EE SH3EE  —e—tLE(R3/R2) —— L& (R3/R1)
160 158 | (Ra/R2) 2o 160%
2% (Rs/R2) 138 (R3/R2)
140 ——_ 128 | 1509% 1181% 130 140%
126 (R3/R2)
118 97.1% (R3/R2) (R3/R2) o
120 110 S0y o1 s 120%
\ 96 o7
100 o2 o3 v 100%
89 o= o7 — 88
80 . 70 . — 80%
(R3/R1) y— (RS/R”\‘ .
80.0% (R3/R1) (R3/R1) ' — .
(R3/R1) 68.0%
64.5% :
40 40%
20 20%
0 0%
48 58 65 78 88 o8
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WM2EER AL ST EERA
TTEE 2FEE 3EE i (R3-R2) tk= (R3/R2) i (R3-R1) k= (R3/R1)
514,601 A 311,664 AN 417,689 A 106,025+ M 134.0% N 96,912FH 81.2%
543,631\ 303,685 A 392,276 A\ 88,591FM 129.2% A\ 151,355FH 12.2%
504,237 A 404,737\ 410,443 N\ 5,706FM 101.4% A\ 93,794FH 81.4%
546,589 A 383,474 N 449,957 A\ 66,483F M 117.3% A\ 96,632FH 82.3%
516,770 A 341,422 A\ 335,224 A\ /\ 6,198F M 98.2% /A 181,546FHM 64.9%
477,543 N 383,796 A 346,657 A /\ 37,139FH 90.3% /\ 130,886+ M 12.6%
3,103,371 A 2,128,778 A\ 2,352,246 A\ 223,468FH 110.5% A\ 751,125FH 75.8%
(BA) BRTTEE w— ST S w— SFI3EE —o= L& (R3/R2) —8=— L% (R3/R1)
100 160%
(R3/R2) (R3/R2)
134.0% %
90 129.2% (R3/R2) 140%
¢ 117.3%
80 o (R3/R2)
1041.4% (R3/R2) 120%
70 98.2% (R3/R2)
(R3/R1) 90.8%
60 81.2% 54 (sg/;j) (R3/R1) (23/:?},) - R T
51 % 5o 81.4% 52 | (R3/R1) i T26%
50 649% 80%
40 M
40 34 34 60%
30
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10 20%
o)
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M2EER AL STEERA
B TTEE 2FE 3FEE R (R3-R2) kb= (R3/R2) R (R3-R1) tb= (R3/R1)
48 102,147+H 63,531+ 84,964+ H 21,433FH 133.7% A\ 17,183FH 83.2%
5H 85,834FMH 42,684+ M 59,560FH 16,876FHM 139.5% /\ 26,274+ M 69.4%
6H 75,868 FH 60,502FH 60,492+ A 10FH 100.0% A 15,376FH 79.7%
g=! 82,585FM 59,708 FH 69,478F M 9,770F+M 116.4% /A 13,107+ H 84.1%
8H 93,129FH 60,389+ 59,465FH AN 1,424F+H 97.7% A\ 33,664FH 63.9%
9H 82,899FM 61,377FM 57,623FH /\ 3,754FH 93.9% A\ 25,276FHM 69.5%
522,462FH 348,691FH 391,582FH 42.891FH 112.3% /\ 130,880FH 74.9%
(BHMD SHTTEE SRR SRIREE —e—ttE(R3/R2) —e—ttE(R3/R1)
160 160%
(R3/R2) B
140 183.7% 'o 140%
— (RS/RZO) (o)
(R3/R2) 116.4% R3/RD) R3/R2)
120 100.0% o7 7% 939% 120%
102 (R3/R1)
100 83.2% (R3/R1) [ 100%
a5 86 (R3/R1) (R3/R1) 84.1% 93 v —
69.4% 79.7% 83 83 (R3/R1)
80 76 695% 80%
6 61 59 o
64 60 61 60 60 . — 61 58
60 60%
(R3/R1)
43 o
40 63.9% 40%
20 20%
0 0%
48 58 68 78 88 o8




